
c"ryz sxeg

miqcpdnl zeakexn zeivwpet

zihilp` divwpet ly miqt` :11 dzik libxz

:htyn .1

m`e z0 ∈ D l zqpkzn dxcq {zn} ⊂ D m`

.D a f ≡ 0 f` D a zihilp` f(z) xy`k f(zn) = 0, n = 1, 2, 3...

:dpwqn

xtqn xzeid lkl yi D a zihilp`e qt`n zizedf dpey f(z) divwpetl
.D a miqt` ly iteq

if` ,D xyw heyt megza dreaw dpi`e zihilp` f(z) m` ik egiked (`)
ly zepexzt ly iteq xtqn wx swer D a `vnpd Γ xebq ew lk

.f(z) = a d`eeynd

l dpwqnd it lr .D a dreaw dpi`e zihilp` g if` .g = f − a onqp
.epniiqe D a (f = a d`eeynd zepexzt) miqt` ly iteq xtqn g

lebira zqt`zne D megza zihilp` f(z) divwpet m` ik egiked (a)
.D a f(z) ≡ 0 if` ,B(z0, r) = {z ∈ D : |z − z0| < r} D a gezt

ep`vn .z1 l zqpkzn {zn} ⊂ B dxcqe B zty lr z1 dcewp xgap
it lr okl .f(zn) = 0, n = 1, 2, 3... y jk D a leabe zqpkzn dxcq

.D a f(z) ≡ 0 htynd

xcqn qt` `ed if` ,f(z) divwpet ly n xcqn qt` z = z0 m` ik egiked .2
.f 2(z) ly 2n

lr .ϕ(z0) 6= 0 e z0 a zihilp` ϕ(z) xy`k f(z) = (z − z0)
nϕ(z) meyxp

e z0 a zihilp` ϕ2(z) y xexa .f 2(z) = (z − z0)
2nϕ2(z) meyxl ozip ok

.f 2(z) ly 2n xcqn qt` z0 okl .ϕ2(z0) 6= 0

1


